B2 FIPLFONO FTM0T0Z 0T SPTTINL VIR FOLEHTED

&L
o
&
L2e
at
{CH
3.

IROP JoFeS: 250

33 D3

cocmmsz M

TEOOD : 2 Mo&3msd n’éo”% &08M1e0 : 200

ARWIND

BOeE TTOPRROB SFEDEFE L.20. 8T . YVITTHIONY, B AF Ferdodd, ROTIBY BREW BT, 83 TY B,
BORTTONT PT0 BOQTI 5w ORI TPt YQQTIT LR BOQTWINT dzﬁmfo oT0 wﬁr{rao@@ﬁomdm
Qexy) WOegRBBT), FoedI CBRPse BRER FowOOTY, @dab 808TONY O NI @ﬁeséoja wbq,gjasarmd 23ed wé’
og)n)%oxada wdosaéﬁda

e prodn I3 w)»éo:b 3ed A, B, C oz D om) Qb Boded w3y decomts Zoadodhs) OMR ¢03d ©330Q,
@zﬂa@tﬁ WBNI mnd;d YT, WITH FodeZ (2F° mew@) RA9ZWeR. Tone NG "’%*:3@ @aj R BoRegES Tl
SREDYT D3 wta,oé.ra%izfc#o 2%.900.80°. TPNO SPATIH IR d;.ra?;oé.o;<.>a’soeL PIr SRBFT/OT dec’
TRWIYT SPRPFNY WNROCRNTITHE. 2,050 Jed PIF BREOTY/SLTY, BT 2..90.650°. ¢0IT TP
83 a”m"’@m Scomie oz,

BEEE, BN P8R Ay Speoses Fos Ry,

SRe0PUER. B BRFODA, e HITR WSoLLRTT.
3 w§ 23T 100 wﬁﬁ@ﬁd) wﬁrirao@daéd B&o3eod wé’oil) 4 2,33,03n90 (E’J’Dédﬁ%ﬁcﬁ)ﬁ) WHRPORTITT. ey
e m@ﬁoﬁa@ rbdaéa dmézﬁe%@mpd QBT 8303% BRRERY, WO de@ﬁ ©Y, 2.0T8eZ Ty, FOCIRD
QUBTRPECIOTD exg) AT DR 2B)ZROBIRT ¢vgTE Ro3Ed dm@. DFe wEde B IR Je) Fes© 2,08
SUZTR) [0, 08 TWREIEB.

D, YUZTNTRY, VRN WHBNIGNTE B8 20Z3 Todd e FeTO 37 BT Ve To0WH tREFTO00W® JIT,
ms elovrcs) mmseso 20.030.630°. eméd [T TFoDNYT QmTwT Nfazéﬁmﬁda NRORIR)T.

2R, FINA AR e03nith. o B3Rk ©vzor0. T IH) Y0Z0E TIN AROBRE 038R Y (0-25) SR,
@o#ﬁ@& BL0TEONRIT)T.

233 éem@ﬂ TVNIR) TF BrEOD BRZeDY, BeoRwONTS. BB FHRFOD AP IR GPRREONG Ve IR 0eSoD
oo, m;sssécgg

BOCFOT> WooTROTIY, ARWAT 08 oEd PO BFEaRe WUBT T TPONY, VT MOTED BRBIFTBY,
DOFIeBd. FoDEFIW 200 YT YT TPONY, B #3F BEEERB I8 SRTBRIREANR AR AR
SAIBYode Bo9ETTIR,

TIRD IHR By Borg, yPRREDHOTHZER. IR BIRLY, Fotde® L0oLRTT, o) ot LR BZRTRY NFIDT.
B3 [ Fob BBV iR RreBonete oremewEed B3Rt @odBomencogs.

a3re)T3e 00303 BRI LT Fpea®, T, E)SetaT =0T VIS OeIoDd ad%awémsaécﬁa‘ TFINRD *aa'aéaﬁeig Toeg

Feor,m orondadi SToYTRY RRRT.

Note : English version of the instructions is printed on the back cover of this booklet.

250

(1-A)



250

BV TRIMOOT TBI BB &S

1) =D &8 (ZRTD0L3D)

(2) ©n S (areon®)

(3) TLZ03T 58 (R JIPLET)

(4) = 0IPPTR ©Q

BT VR TPBL WERT TIPOI AOTN,
oSO T?

(1) Sngeacse

(2) =y
3) 29

(@) DLONTD

BT, deoZpodR BTN AT BTOI
moeed, Loeridd,Zod

(1) Zesor

(2) A

@) TEedaw
4)
RATOLF  FOITPOTLY  VTOIRENZDE T,
=%

(1) HBee

2 AR,0T A (BT

(3) Rl Ty

(4) wme,

RIDOEF  FOOFLEWT  JIOI 0N
O30TV 2003 WTO0RTJ|ONT.

(1) 203 noe

(2) #Y3IYT Toore

(3) Aaows Jooce

(4) QD DB ADOWT WRTE

(2-A)

BeoorzsY wBEow

Sh w@ém’mms}ﬁ.
@ t;basdc"
2 [z
(3) Bex
4) cééofncs

=

BRONST  HREBOD  NCDT
doeer%ms =0ees
maéo\wm& %oeﬁmggd

TOR

(1) ==
(2) dwclore
(3) Sower
4) »e
EDafovy

NT T ADIATN)

RFTBORR
{V,J

2

@5:&@@59@9

Cplel N

nReEn

TBemo08Twon (parallel) 9, feed 8e0ss

DHOTT,

1) =T

2 @zﬁc@

(3) BdrexT

(4) FedT TRPTRO ¥

QYO gREFDY,
FRTOT00SToN  eRP= 3TT

33030F) T

(1) woxrT® Dokdwee
(2) A Qodwee
(3) wpoumF QOTBRE

(4) onITE NoBRe

ESDIEMOT]
NEIAEN N



250

The rocks formed from molten magma, are
called

(1) Sedimentary rock
(2) Igneous rock
(3) Metamorphic rock
(4) None of these

The main ingredient of a good quality brick
earth, is

(1) Magnesia

(2) Lime
(3) Silica
(4)  Alumina

The property by virtue of which lime sets under
water, is known as

(1) Slacking

(2) Setting

(3) Hydraulicity
(4) Calcining

The commonly used raw material in the
manufacture of cement, is

(1) Slate

(2) Sandstone
(3) Limestone
(4) Basalt

Strength of cement concrete primarily depends
upon

(1) Quality of water
(2) Quantity of Aggregate
(3) Quantity of cement

(4) Water and cement ratio

(3-A)

Turpentine oil is used in paints as a

(1) Thinner
(2) Vehicle
(3) Base
(4) Drier

A covering of concrete placed on the exposed

top of an external wall, is known as

(1) Cornice
(2) Coping
(3) Lintel
@) sill

The brick laid with its length parallel to the face

of a wall, is known as
(1) Header

(2)  Stretcher

(3) Closer

(4)  None of the above

The opening provided in sloping roof with its

top parallel to the roof surface, is called
(1) Dormer window
(2)  Skylight window
(3) Lantern window

(4) Louvered window
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10. The members which support covering material | 13. The various positions of a brick are shown in

of a sloping roof is figure and are marked as under:
3
(1) Rafters y [ A. Frog
) Purlins 1 . B. Header
. Arri
(3) Battens ¢ 'S
D. Stretcher
(4) Struts ] )
Select the correct answer using codes given
below :
11. The highest line of sloping roof, where two ABCD
opposite slopes meet, is known as
12134
(1) Rafter
201234
2) Ridge
@ J 34321
(3) Cave
43241
(4) \Valley
14. Match list | with List 11
12. Match List I with List I} List] Listll
List | List Il
1)UNDER REAMED PILE
A 1) Saddle back coping
2) SIMPLEX PILE
B 2) Yaround coping
3) PRESSURE PILE
C 3) Chamfered coping
4) PEDESTAL PILE
D 4) Bullnose coping

Select the correct answer using codes given Select the correct answer by using codes given

below : below :
ABCD ABCD
(1)1234 W) 1324
(204321 22341
2143 3) 4123
(4) 1324 (42413

250 G-A)
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Match List | with List Il

List Il
A 1) Bulbangle
B 2) Channel Section
C 3) Trough Section

D % / 4) Rail Section

Select the correct answer using codes given
below :

ABCD
1)1234
(21432
(3)2143
(4) 3412

Pick up the calcareous rock from the following
(1) Slates

(2) Granites

(3) Quartzites

(4) Marbles

Surveys which are carried out to depict

mountains, rivers, water bodies, and other

cultural details, are known as
(1) Chain surveys

)
(3) Topographical surveys

City surveys

(4) Plane surveys

(7-A)

18.

19.

20.

21.

A well conditioned triangle has no angle less
than

1) 20°
) 30°
(3) 45°
4) 60°

When does the bubble of the level tube of a
level remain central ?

(1) When Line of light is horizontal
(2) When axis of telescope is horizontal

(3) When geometrical axis of the telescope is
horizontal

(4) When eyepiece is horizontal

For the construction of highway

M)

(2) Cross sections are required

Longitudinal sections are required

(3) Both (1) and (2)

(4)  None of the above

An imaginary line joining the points of equal
elevation on the surface of the earth represents

(1) Contour surface
(2) Contour gradient
(3) Contour line

(4) None of these
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Closed Contours of decreasing values towards

their centre, represent

(1) ahil
(2) adepression
(3) asaddle

(4) ariverbed

While surveying a plot of land by plane table,
the field observations
(1) and plotting proceed simultaneously

(2) and  plotting do
simultaneously

not  proceed

(3) are recorded in field books to be plotted
later

(4) All the above

The operation of revolving a plane table about
its vertical axis so that all lines on the sheet
become parallel to corresponding lines on the
ground, is known

(1) Levelling

(2) Centering

(3) Orientation

(4) Setting

The reduced bearing of a line N87° W, its whole

circle bearing is

1) 87
@) 273
(3) 93
@) 3

(9-A)

26. Referring to figure,

217.

28.

pick up the correct

statement from the following:

(1) The total length of centre line of four
walls is 20 m

(2) Length of long wall out to out is 6.8 m
(3) Length of short wallsintoinis 3.2 m

(4) all the above

The damp proof course (DPC) is measured in

(1) Cumt
(2) Sq.mt
(3) Meters

(4) None of the above

Pick up the correct statement from the
following :
(1) AIll pipes and fittings are classified

according to their diameters

(2) The diameter of the pipe is the nominal
diameter of internal bore

(3) All pipes are measured along the centre
line of the pipe in metres.

(4) All the above
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The quantity of lean concrete (1:4:8) for the
surface drain shown in figure with a total length
of 5 meters, is

w 310 Brickwire in cement
‘ (1:4)

Lean concrete |72 7% 3
A-4:8F =

All dimensions are in cm

(1) 0.225 Cu.mt
(2) 0.230 Cu.mt
(3) 0.235 Cu.mt
(4) 0.240 Cu.mt

A cement concrete road is 1000m long, 8m wide
and 15 cm thick. The cubic content of concrete

for the road specified is

(1) 300 m
(2) 600 m
(3) 900 m?
(4) 1200 m?

The minimum pitch, i.e., the distance between

centres of rivet holes is not less than

(1) 1.5 times the hole diameter
(2) 2.0 times the hole diameter
(3) 2.5 times the hole diameter
(4) 3.0times the hole diameter

32.

33.

34.

What is the correct sequence of the following
stages in the plane table survey ?

A. Fixing the plane table on tripod
B. Orientation of the plane table
C. Levelling of the plane table

D. Centering of the plane table

Select the correct answer using codes given
below

(1) ABCD
(2) BDAC,
(3) ADCB
4 ACDB

What is the command to purge the drawing in

Autocad ?

1) Pu

2 Pr

(3) Purge

(4) Both (1) & (3)

What is the command to mirror the drawing to

different location in Autocad ?

1 ™M

(2) Mv

(3) Mo

(4)  None of the above

(11-A)
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What is the command to stretch the lines in plan
in Autocad ?

(1) st
(2) Stretch
(3) sSr

4) Both (1) & (2)

Pick up the correct statement from the following
(1) Soft stones are required for carving
(2) Light stones are required for arches

(3) Hard stones are required to stand high
pressure

(4) All the above

Seasoning is

(1) aprocess of removing sap
(2) Creosoting

(3) Painting with Sodium silicate

(4) Coating with tar

Plutonic rocks are the classification under

(1) Igneous rocks
(2) Sedimentary rocks
(3) Metamorphic rocks
(4) None of these

(13-A)

39.

40.

41.

42,

Conchoidal, Earthy, Hackly and Fibrous
represents

(1) Fracture of a rock

(2) Texture of a rock

(3) Both (1) and (2)

(4) None of these

A distinct plane of division along which stones

can easily be split is called

(1) Line of least resistance to load
(2)  Aline identified in rocks to split
(3) Natural bed of stone

(4) All of these

is mainly responsible for the

production of clay in nature.
(1) Coaltar

(2)  Orthoclase feldspar
(3) Paraffin

(4) None of these

The inner annual rings surrounding the pith is

known as

(1) Heartwood
(2) Softwood
(3) Sapwood

(4) Cambium layer



43.

44.

45.

46.

250

WBWoeTE,  Federod R, OTER R
WD) [N TNTT BRCRATINTR, VTT,
plefio)

1)
)
(3)
(4)

d9cog,

RN

SFANFT WO
TOBBES

BdRemeee’, IR mWEFIT, O

TUFEIT W) TPLIINTOTT

1)
)
©)
(4)

SOTBOWNY BReR
YT TR
QuRoD BeeR

8 030PRP ¥

mmss mows

£3eS0ITNTIY T
(1)
)
3)
(4)

30083 AOWTE

38 cm? & 350 6oz 700 3.22.
e cm? R 3.5003 70 8.22.
Be cm? R 3.5003 7 3.22.

DT O30 55’@@571%3@ 19}

oo¥nY TORWEIN T Slatnp SO O30T
JWRY, o, BERLTI Slo)
BTEOWA0T SCTWOBPTI), &oe7ix0,TOT

(1)
)
®3)
(4)

[BOBJT*

e
Seowos® (2£)
VRIN s

PRI

(14-A)

47.

48.

49.

50.

LS oW $CT, DO

D
)
©)
(4)

QT03T z%@i1
dac%oéd z%e:il
WENR®E 2ZoNn

& 0PI ¥

é&@@% faéiﬁoja ONBRONLD

D
)
©)
(4)

TMOT 203

AR BRBT TRJOOD

WF W) T JATOIZ, NI,
B0eIT YRR

N3] :bs% QeOJRODTR NOENTIVBT e

W) YNNI [OIT FONOD FTLHOT
TDROTPMPTD. 3 oP0H IED

@)
)
©)
(4)

DVOFI (\BIFONT)

?,S%é DRPT (Fesorr)
QTS

AL on

PeTIT BNIL LTONGPOT TOH zﬁaﬁa@"@%é
ARP0ITZe I ©oW xm:s@%ﬁ LoWTP
IoRRT  WF, AIOBTT WG, HITT
DROTZR T BRETT W GO
TR

1)
)
3
(4)

33

QeTE B

(1) 33 (2) 2TBE®
8 OIPRIP ¥



43.

44.

45.

46.

250

Chip mark, Diagonal grain, Torn grain and
Wane are the defects of wood which may occur

due to

(1) Fungi

(2) Insects

(3) Natural forces

Conversion

(4)

Blow-holes, cold shortness, Red-shortness and

Segregation are called

(1) Defects in Timber
(2) Defects in Steel
(3) Defects in Bricks
(4) None of these

The mechanical strength of ordinary glass varies

from

(1) 350 to 700 kg per cm?
(2) 3.5to 70 kg per cm?
(3) 3.5to 7 kg per cm?
(4)  None of these values

The solution of resins or resinous substances

prepared either in Alcohol, Oil or Turpentine is

called

(1) Distemper
(2) Paint

(3) Varnish
(4) Solvent

(15-A)

47.

48.

49.

50.

Bull’s trench kiln is a

(1) Continuous Kiln
(2) Intermittent Kiln
(3) Drying Space
(4) None of these

Hollow brick has advantages of
1)
)
©)
(4)

Light weight
Less laying time
Reduces heat and sound transmission

All of the above

Quick lime with water that falls into powder

after cracks and swells due to reaction is called

(1) Churning

(2) Slaking

(3) Decomposition
(4) Setting

A sectional plane parallel to horizontal plane
and perpendicular to vertical plane, passing

through the mid height of a cone and cylinder

forms

(1) Circle

(2) Ellipse

(3) Both (1) and (2)

None of these

(4)
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52.

53.

54.
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Varying angle of sectional plane to cut cone

results in

(1) Both Circle and Ellipse

(2) Both Parabola and Hyperbola
(3) Both (1) and (2)

(4) None of these

Representing object features on three planes is

possible by

(1) Isometric projections only
(2) Perspective projections only
(3) Both (1) and (2)

(4) None of these

A square plane or Lamina, Perpendicular to
Horizontal Plane (HP) and parallel to Vertical
Plane (VP) shows

(1) alinein HP and a square in VP
(2) asquarein VP andaline in HP
(3) aline in both HP and VP

(4) asquare in both HP and VP

When a plane of ellipse is resting over a ground
by inclined to Ground at an angle such that the

ellipse seems like Circle in

(1) Horizontal Plane (HP)
(2) Vertical Plane (VP)
(3) Both HP and VP

(4)  None of these

(17-A)

55.

56.

57.

58.

When a circle rests over a ground by inclined to
it at an angle and perpendicular to Vertical
Plane seems to be an ellipse in

1)
)
©)
(4)

Horizontal Plane (HP)
Vertical Plane (VP)
Both HP and VP

None of these

When a square plane is perpendicular to both
HP and VP an image of line can be seen in

1)
)
©)
(4)

Horizontal Plane (HP)
Vertical Plane (VP)
Both HP and VP

None of these

Two contour lines of different elevations cannot

cross each other at
1)
)
©)
(4)

Plain grounds only
All types of grounds
Overhanging cliffs of a cave

None of these

A contour is an imaginary line on the ground

(1) Joining lines of equal lengths

(2) Joining points of equal height or elevation
(3) Both(1)and (2)

(4) None of these
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Contour lines distributed at almost equal

interval show

(1) Steep Slope

(2) Constant Slope
(3) A perfect flat area

(4) None of these

Characteristics of contour lines says

(1) Contours of different elevation never join
except at cliffs

(2) Closer contour shows steep terrain
(3) Sparsely spread contour shows flat area

(4)  All the above characteristics

The curve having same or different radius with
their centre of radius at different sides of them is

called

(1) Compound Curve
(2) Reverse Curve
(3) Simple Curve

(4) Transition Curve

(19-A)

62.

63.

64.

The curve having different radius with their

centre of radius at same side of them is called
(1) Compound Curve

(2) Reverse Curve

(3) Simple Curve

(4) Transition Curve

The process of determining the positions, both
in plan and elevation, of the natural and artificial
features of a locality for the purpose of
delineating them by means of conventional sign

is called

(1) Trigonometric Survey
(2) Topographic Survey
(3) Compass Survey

(4) None of these

A closed contour lines with one or more higher

ones inside represents

(1) Hill or elevated ground
(2) Depression

(3) Flat ground

(4) None of these
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The

proportionately between the plotted ground

process of spacing the contours

points using

(1) By estimation

(2) By arithmetic calculations
(3) By graphical method

(4) All the above methods

Maintaining an equal amount of cut and fill in
the longitudinal alignment survey indicates

(1) Balanced depth of cut and fill

(2) Economic cut and fill
(3) Good alignment
(4) All the above

A Theodolite is an instrument used for finding

or setting

(1) Elevations only

(2) Both elevations and angles
(3) Angles only

(4) None of these

Compass is used for finding or setting

)

Horizontal angles only

(2) Both horizontal and vertical angles
(3) Vertical angles only
(4) None of these

(21-A)

69.

70.

71.

72.

Stirrups in RCC columns are used to

(1) Hold vertical reinforcement

(2) To take up Shear load

(3) To avoid buckling of vertical bars
(4) All of these

An outer profile of a plinth of the foundations

indicates
1)
)
©)
(4)

The built up area on ground
Building coverage on ground
Both (1) and (2)

None of these

A building estimation can be done by using
1
)
®)
(4)

Long wall or short wall method
Centre line method
Both (1) and (2)

None of these methods

Changes in moisture level in clay soil causes

severe damages to

(1) Low rise buildings with normal
foundation

(2) High rise buildings

(3) Building with raft foundation

(4) None of these
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73. The capacity of wood to absorb water vapor | 77. According to IS method of measurement, the
from air is called order of the sequence is

(1) Decay of wood (1) Length, Breadth, height

(2) Seasoning of wood
(2) Breadth, Length, Height
(3) Hygroscopicity of wood

(4)  None of these (3) Height, Length, Breadth

(4) None of the above

74. The Vanishing points are used in
(1) Isometric views

(2)  Perspective views 78. The item of steel work which is measured in

(3) Both(1)and (2) sg.mt. is
4)  None of these
) (1) Collapsible gates
(2) Rolling shutters

75. A Dumpy level is an instrument used for finding

) (3) Steel doors
or setting

(1) Elevations only (4)  All the above
(2) Both elevations and horizontal angles
(3) Angles only

(4) None of these
79. When two plates are placed end to end and are

joined by two cover plates, the joint is known as
76. Pick of the correct statement from the

following : (1) Lapjoint

(1) Pointing is measured in sg.mt. (2) Buittjoint

(2) Plastering is measured in sq.mt. (3)  Double cover butt joint

(3) Glazing is measured in sq.mt.
(4) Single cover butt joint

(4) All the above

250 (23-A)
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What is the command to extend the line in

plan ?

(1) Ex

(2) Et

(3) Extend

(4) Both (1) & (2)

What is the command to mirror the drawing in
Autocad ?

1) Mi
2 Mr
(3) Mo
(4) None of the above

What is the command to trim the line in plan in

drawing ?

@ Tr

(2) Tm

3 Ti

(4)  None of the above

Jack Arch Roof involves concreting with

)

Steel and Concrete

(2) Bricks and Lime concrete
(3) Stone and Steel
(4) Stone and Wood

(25-A)

84. The fine aggregates are those which pass

85.

86.

87.

& are retained on these I.S. Sieves

respectively

(1  10mm & 4.75 mm
2) 4.75mm & 0.075 mm

©)
(4)

10 mm & 0.075 mm
4,75 mm & 2 mm

The process of removal of moisture content
from the timber is

(1) Seasoning
(2) Preservation
(3) Conversion
(4) Treatment

Lime in brick clay has the following effects :
1)
)
®)
(4)

Increases shrinkage on drying
Raises the fusion point
Excess lime causes the brick to melt

Lime has no such effects

Refractory Bricks are more effectively used in
the construction of

(1) Partition walls

(2) Load bearing walls

(3) Lining of furnace walls
(4) Retaining walls
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88. A group of closed contours having higher

89.

90.

91.

250

elevation outside represents

(1) Pond
(2)  Hillock
(3) \Valley
(4) Ridge

In making of concrete traditional

cement is not used.

(1) Bacterial

(2) Reactive powder
(3) Geopolymer

(4) Traditional

Special auxiliary material used in prestressed

concrete is

(1) oil

(2) Lubricant
(3) Grout

(4)  Anchor

A solid obstruction put across a river to raise its

water level and divert the water into canal is

called as

(1) Dam

(2) Bund

(3) Causeway
(4) Weir

(27 -A)

92.

93.

9.

A person who organizes and manages any
enterprise, usually with considerable initiative

risk is generally known as

(1) Leader

(2) Follower

(3) Entrepreneur
(4) Customer

Which of the following is used to induce flow or
raise pressure of a liquid with impeller and a

series of curved vanes?

(1) Centrifugal pump
(2) Reciprocal pump
(3) Current meter

(4) Pitot tube

Identify the component which contributes more

to the ultimate strength of the cement.

(1) Silicon dioxide

(2) Di calcium silicate
(3)  Tri calcium silicate
(4)  Tri calcium aluminate
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95. The final setting time of Ordinary Portland | 98. Workability of concrete mix having low water

Cement should not be more than cement ratio should be obtained by
(1) 2hours (1) Slump test

(2) 4 hours (2) Compaction factor test

(3) 8hours

(3) Flow test

4) 10 hours
@ (4) Vee Bee test

96. Strain Rosette device is used to ) .
99. The continuous flow of water in the form of

(1) Measure shear strain fountain may be expected from
(2) Measure linear strain (1) Surface spring
(3)  Measure volumetric strain (2) Gravity spring
(4) Measure Young’s modulus (3)  Avrtesian spring

(4) Open spring

97. The bearing capacity of the soil depends upon

(1)  Shear strength of the soil 100. A bar chart is drawn for

(2) Saturation condition (1)  Time versus activity

(3) Depth of the footing o
(2) Activity versus resources

(4) All of these
(3) Resources versus progress

(4) Time versus progress

250 (29-A)
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All the responses should be marked ONLY on the separate Answer Sheet provided and ONLY in
Black or Blue Ball Point Pen. See detailed instructions in the OMR Answer Sheet.

All questions carry equal marks. Attempt all questzons Every question for which wrong
answer has been given by the candidate, /4% (0.25) of the marks assigned for that
question will be deducted.

Sheets for rough work are appended in the Question Booklet at the end. You should not make any
marking on any other part of the Question Booklet.

Immediately after the final bell indicating the conclusion of the examination, stop making any
further markings in the Answer Sheet. Be seated till the Answer Sheets are collected and accounted
for by the Invigilator.

Questions are printed both in Kannada and English. If any confusion arises in the
Kannada Version, please refer to the English Version of the questions. Please note that in
case of any confusion the English Version of the Question Booklet is final.

Use of Mobile Phones, Calculators and other Electronic/Communication gadgets of any kind

is prohibited inside the Examination venue.
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